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PHILOSOPHY — HONOURS
Paper : CC-8
(Western Logic - I)
Full Marks : 65

Candidates are required to. give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10
(a) An argument is invalid if
(1) premises are false and the conclusion is false
(ii) premises are true and the conclusion is false
(iii) premises are true and the conclusion is true
(iv). premises are false and the conclusion is true.
(b) If p then g and if r then g
AR GIRLS' GOLLEGE

porr .
- q WMURALIOH | [BRARY
— this form of dilemma is

(i) Simple constructive (i) Complex constructive

(ii) Simple destructive (iv) Complex destructive.

(¢) The obversion of ‘All sentences are not propositions’ is
(i) All sentences are non-propositions (i) Some non-propositions are sentences
(i) No non-sentences are propositions  (iv) Some sentences are non-propositions.
(d) If O proposition is true, what will be the truth value of the corresponding A proposition?
(i) True (i) False
(i) Undetermined (iv) None of these.
(e) In opposition of propositions, the universal isthe ____ of the particular.
(i) Sub-altern (i) Super-altern
(iif) Contradictory (iv) None of these.



O

(2)

()

(®

)

®

@

( 5 ) C/J('ﬂh Sm.)-I'IrIlasuphy-ll/CC-S/CBCS)

In which ol the following syllogistic forms, the existential fallacy is involved?
(i) ALL-1 (i) AAI-2

(i) BIO-3 (iv) All-2.

Whichof the following valid mood of a standard categorical syllogism is a valid form in the 4th figure?
(i) FESAPO (i) FELAPTON

(i) CAMESTRES (iv) DARIIL

‘Non-rationalist philosophers exist'— is represented in Boolean interpretation as— (taking S for
rationalist and P for philosophers).
() SP=0 (iiy SP=0
(i) SP#0 (iv) SP=0.
Which inductive method is expressed by the following form?
ABC abc
ABC  ajbe DHAR GIRLS' COLLEGE
MURALI y
A,BC  azbe LIBRAR
oA is the cause of a
(i) Method of Agreement (i) Method of Difference
(iii) Method of Residues (iv) Method of Concomitant variation.
What is the probability of getting an ace in a draw from a deck of cards?
N W]
® 13 W 5
1 oy ]
(iii) 5 . (iv) g

The translation of ‘Only fools think the fools great’ into standard form categorical proposition is :
(i) All persons who think fools as great are fools

(i) All fools are persons who think fools as great

(i) Some fools are persons who think fools as great

(iv) None of the above.

If this syllogism does not commit the fallacy of affirming the consequent, then it is valid. This
syllogism is valid, because it does not commit the fallacy of affirming the consequent.

This argument—

(i) isvalid

(ii) commits the fallacy of denying the antecedent
(i) commits the fallacy of affirming the consequent
(iv) None of these.

Please Turn Over



(24t Sm.)-Phitosophy-H/CC-8/CBC) (6)

2. Answer the following questions briefly (any five) : x5

(a)
(b)

(©)
(d)
(e
®
(8)
(h)

3. (a)

(b)
(c)

(b)

(c)

(b)

Explain the relation between truth and validity.

Are two propositions necessarily contradictory if one is true and the other is false? Justify your
answer.

Explain the fallacy of illicit major with an example.

Explain with example, the addition theorem of calculating probability.
Is simple conversion of A proposition possible? Discuss.

Define a mixed syllogism and show its difference from pure syllogism.
What is meant by inductive generalisation? Give example.

What are the two claims made by Mill about his methods? Discuss.
Answer any two questions.

Translate the following sentences into standard form categorical propositions :

(1) He who takes the sword shall ‘perish by the sword.

(i) All men sometim:as err.

(i) He who wants to succeed must work hard. MURALIDHAR GIRLS’ COLLEGE
(iv) She never sings unless she is asked to do so. LIBRARY

(v) It is not the case that every farmer pays his tax.
What is existential import of a proposition?
Of four types of categorical propositions, if only particular propositions are said to have existential
import, then how are conversion, obversion and contraposition, in traditional logic, affected? Discuss.

(1x5)+3+7

Test the validity of the following arguments by means of Venn diagrams (any two) :

(i) None but the good are to be envicd. All truly wise men are good. Therefore, all truly wise men
are to be envied.

(i) No one present is out of work. No members are absent. Therefore, all members are employed.

(iii) Wherever the soil is much acidic, flowers won’t grow. But flowers have grown in King’s
garden. So, the soil there cannot be much acidic.

What is a complementary class? Determine what would be the complementary class of a
complementary class.

Give the definition and example of dilemma. (5%2)+H(1+1)+(2+1)

What is analogical argument? Explain with an example.

Explain and illustrate the criteria for appraising analogical arguments. 3+12
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6. Answer any three questions : 5x3

(a) A box contains 6 red balls, 4 white balls and 5 black balls. What is the probability of getting three
white balls in three successive draws of balls from the box?

(b) A dentist’s chamber has five entrances. Four patients reached there at the same time. What is the
probability that the four patients would enter into the chamber using the same door?

(c) What is the probability that the total number of points on the top face of a die would be 7 in rolling
it twice?

(d) If three cards are drawn successively from a deck of cards, what is the probability of not getting
an ace in three draws?
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